Name: 6,\{ Date:

Section 7.1 Extra Practice
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1 What are the slope and y-intercept of each B! - = - /l,
line? 1 i - ,Z
ayy=5x«-3 b}y=0.1x-5.7 )/ !\‘-\I_'\,-—,q D! L{
: , . S -
: / Wm=59 M=o0-1ar /¢ 412 b: -2
i [ . L
: 2. Sketch the graph of each line using the slope ; \{ _ -
and y-intercept. '
: a)y=2x+3 M= 3 ( 0 | 3) 7. Write the equation of each line in the form
Put! graphs on graph provided i y=mx+b.
below and iabel as 2a or 2b! 2o 2) The slope is 2. The line passes through

the point (1, 4).
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"3, Express each equatxon in slope-intercept —_ 2 C I
form. Determine the slope and y-intercept of
each line.

iy a) 4x+5y-20=0

b\ E
/i = = (‘{X + A0 b) Thlt:,é: mtez'ptls ~3. The line passes
V),,i -2
= MX =
pinwapt=H0 | y= P 3

through the point (-2, 6). q= -?’(‘4_4_

/ b)5x—y=12 \/ . Sl =5 bﬂ ’2_7— = =mC ) > : /2,
: )3 Ry &/
i 3 4. Write the equation of each line in the form @ E\’;fb py 3 = /6(/ X- 3
z ymEtE ©) The line passes through the points (0, 4) >
i a) m= 2, y-intercept: (0, —5) and (2, 6).
o N=de - e 2 7 Y
) b) m = -6, y-intercept: (0, 2) 4w A
. Y=-bx+2 :
« L / §. What are the slope and y-intercept of each T
: line? Write the equation of each line in the ]
i slope-intercept form.
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